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SA - BB B () - MM - BES Ol &t o San HmEET
— &5 45,0003 «1H 52 2,340
— =AM 2,000 23] 1 x251 1,004
—wnEs2 Xl 50,000 *1H «12& 600
— ZE S| 200,000 »23l 400
2 (NSUHESSEMA)(LWEMLSESIA) 116,023 108, 860 7,163
J2ZH (NS AHSSMRL) 116,023 108, 860 7,163
201 Let249] 74,821 72,361 2,460
01 At 22l 52,340 51,440 900
OgEet==EH| 46,292
— A JlE ARES 100,000& »18H 1,800
—ZSMIRN2A(EHLEY 72 S)
480,000 *3CH x4 3] 5,760
—=ABXRY 20,0001 128t A+ 12 2,880
~DREH Y BA AQE Do
400,000& x183l 7,200
—QEI AZE FY(EE EX,232)
910,000& »24! 1,820
—XANSUHEES BX ME S(228)
60,0003 x16Ax12& 11,520
—M3dl AsSX 2 AEAH MH
1,000& x6&+1,0000H 6,000
—A&IH =B AM HAS |-DEE +¥
350,000& =13l 350
—THUIIE X 7Y 95,0002 10k A 950
—YABSE HAE L FU(=SISIH)
1,500& *8000H 1,200
—d2=I] 22l 56,0002 12& 672
—ANSUHSEARL 2282 L (BEHM S
s S78) 150,000& 128 1,800
— 2o1gHl =82 130,000& 128 1,560
—Hld el (e es &)
25,0003 40 »32] 300
—HSUIIE JIH ¥ NESEHS HdE8AIA
8 ZXZEH X224 200,000& x53| 1,000
— =UAXSTAN &EIIE ER =2
369,998,000 *20%*2. 0% 1,480
O= &l 6,048
—NSUHSELR =& 2 a4
7,0003 «18H «43| x 128 6,048
02 =224l 22,481 20,921 1,560
O 33223 ¥ HA 13,724
—SFNERE = 50,000& »23l 100
—d3AIE E 80,0003 «1CH*12& 960
—&IAER 750,000 128 9,000
—&ot=E MEZ 200,000 = 12& 2,400
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2N AASUHSEARL
H: HH2IAH(NSUHEEARL)
el JI2ZH(NSUHSSEMRA)(DEMASESIH) (Sl & &)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
—NHSANSSARL 0ANT HE2EE
700,000& * 13l 700
— QAo ME QY 2Hdx 30,0008 122 360
—TV=dlE 17,0003 «10H =122 204
OAIE ZHI S X 8,757
— A== Xl 751m 7 000& 5,257
— CCTV | X2 =Hl 500, 000& 7 CH 3,500
202 044l 36,202 36,149 53
01 SLHOIYI 36,202 36,149 53
ONsSIAsSEYR =& 2UHAH
20,000 «18H »83| x12& 34,560
O&&X At =LHEH 0L
273,600 x3H »23] 1,642
307 glz2+ol & 5,000 0 5,000
02 HAFHAANGFEE 5,000 0 5,000
OHEIIAH SAA NEEH & 2AFSAMES
A& 5,000, 000& =12 5,000




